

The Effect of Knowledge, Attitude and Practice on the Function of Thalassemic Patients

Kourorian Z¹, Azarkeivan A^{2*}, Hajibeigi B³, Oshidari A⁴, Shirkavnd A⁵

1. Department of Research and Development, Ronak pharmaceuticals, Tehran, Iran.

2. Blood Transfusion Research Center, High Institute for Research and Education in Transfusion Medicine, Thalassemia Clinic, Tehran, Iran.

3. Research Center, Iranian Blood Transfusion Organization (IBTO),

4. Department of research and development, Ronak pharmaceuticals, Tehran, Iran.

5. Department of medical physics, Tehran University of Medical Sciences, Tehran, Iran.

***Corresponding Author:** Azarkeivan A, Email: azazarkeivan@yahoo.com

Submitted: 14-07-2014 , Accepted: 09-08-2014

Abstract

Background: In thalassemia major as a chronic disease patients need to require information about the disease processes and therapeutic interventions. The aim of the present study was to evaluate the knowledge, attitude, and practice behavior of thalassemic patients.

Patients and Methods: This was a cross-sectional descriptive knowledge, attitude and practice study conducted in Zafar adult thalassemia clinic, Tehran, Iran, with a simple random sampling. The questionnaire was designed by a research team including an expert physician involved in counseling and education of thalassemic patients for many years.

Results: One hundred and ninety thalassemic patients entered the study. Ninety nine patients (52.1%) were female, 91(47.9%) were male, with age range of 14 to 48 years (mean 26.79 $\pm$ 5.96). Results of the knowledge part of the questionnaire indicated that 39 % of patients had poor information about thalassemia 32.5% had little information and 28.5% had satisfying information. Fifty eight percent of patients had a positive attitude towards their appearance, quality of life and social relations. Positive attitude was significantly correlated with good knowledge ($p=0.009$). Low knowledge about the disease had caused treatment to be irregular and improper. Based on our questionnaire 144 patients (75.8%) were depressed which was significantly higher among females ($P=0.002$).

Conclusion: Increasing knowledge, attitude and practice awareness among thalassemic patients considering their disease and treatment methods has a positive influence in their quality of life. This will improve their performance to deal with their lifelong disease and its challenges during the course of treatment.

Keywords: Thalassemia, knowledge, attitude, practice, Iran.

Introduction

Hemoglobinopathies, especially β -thalassemia, are among important health problems in Iran¹⁻³. The high prevalence of β -thalassemia drains health resources and drastically effects family and personal life of patients⁴. Thalassemia is found in about 60 countries with the highest prevalence in the Mediterranean region, parts of North and West Africa, the Middle East, the Indian subcontinent, southern Far East and southeastern Asia, together composing the so-called thalassemia belt⁵. About 150 million people worldwide carry β -thalassemia genes. The genes are particularly prevalent in

Italy and Greece. Other regions with a high gene frequency are Sardinia (11-34%), Sicily (10%), Greece (5-15%) and Iran (4-10%)⁶⁻⁸. In Iran 18,600 cases of major thalassemia were reported in year 2002⁹. The gene frequency of β -thalassemia is high and varies considerably from area to area, having its highest rate of more than 10% around the Caspian Sea, and Persian Gulf. The prevalence of the disease in other areas is between 4% and 8%. In Isfahan, the frequency rises again to about 8%. In the Fars province, in southern Iran, the gene frequency is also high and reaches 8-10%⁸.

Not long ago, children born with thalassemia seldom survived their first decade of life. Nowadays, the survival of patients with β -thalassemia major is increasing because of better treatment and supportive measures¹⁰. Despite the fact that Iran is situated in the thalassemia belt few studies in terms of knowledge and need-assessment of thalassemic patients have been performed. It is essential to investigate the knowledge and educational needs of thalassemic patients to take a positive step toward their health support. Nurses' participation in the education of patients and enhancing their knowledge according to their educational needs is considered as one of the academic and professional responsibilities of nurses.¹² Pakbaz et al. in their study showed that thalassemic patients are suffering from low quality of life due to excessive problems; which can be overcome with training¹¹. Brunner and Suddarth believe that one of the basic needs of human beings is the need for learning, training and data acquisition¹³. Phipps et al. have confirmed that training the individuals based on their health needs is essential and identification and evaluation of potential powers of patients is very important in their education¹⁴.

The aim of the present study was to evaluate the knowledge and attitude of major thalassemic patients towards subjects such as blood transfusion, iron overload, and different brands of deferoxamine.

Patients and Methods

This was a cross-sectional descriptive KAP (knowledge, attitude and practice) study conducted in Zafar adult thalassemia clinic, Tehran, Iran, related to Iranian Blood Transfusion Organization (IBTO). Our inclusion criteria were patients' tendency, type of thalassemia, and age of at least 14 years. We used a simple randomization method to choose the participants from patients who referred to the clinic and had the inclusion criteria.

The study questionnaire for assessing the knowledge and attitude of the patients was designed by a research team including an expert physician involved in counseling and education of thalassemia for many years and a pediatrician with appropriate history of practice in the field of thalassemia. The reliability of the questionnaire was controlled by the test-retest method. The epidemiologic characteristics of the patients were

assessed by 26 questions. The knowledge part included 9 questions which were answered by yes, no, or a little. Also, for accessing the attitude 20 questions were asked with a 4 options Likert of absolute agreement, relative agreement, relative disagreement, and absolute disagreement.

Practice part the questionnaire included 20 questions. The study was fully explained to the patients prior to their participation and informed consent was obtained from the participants or their legal guardians. The study was approved by the IBTO ethics committee. Descriptive statistics were used to present the demographic data, and the correlations of variables were studied using Spearman Chi square test. Odds ratios and 95% confidence intervals (CI) were calculated. A p value of <0.05 was interpreted as significant.

Results

One hundred ninety thalassemic patients were asked to complete the questionnaires. There were 99 females and 91 males (52.1% female and 47.9% male). The age of participants was in the range of 14 to 48 years (mean age 26-79 $\pm$ 5-96). The mean age of thalassemia diagnosis was 17 $\pm$ 20.3 months and in 3.7% of patients the diagnosis was made after 2 years of age. One hundred and seventy two patients (90%) had major thalassemia and the rest of patients had intermediate or alpha thalassemia (Table1). In 47% of cases there was other thalassemic sibling in their family.

Regarding the formal educational level 23 patients (11.5%) did not finish high school, 101 patients (53.2 %) finished high school, and 67 patients (35.3%) had a university degree. Forty eight patients (25.3%) declared themselves as unemployed (Table2).

Thirty females and 22 males were married. Among 52 married patients only 31 patients had genetic counseling for marriage and they ignored it afterwards (Table 3). Because Zafar Clinic is a referral center so patients came from different parts of Iran for treatment (Table 4).

The lack of puberty among females was the most prevalent complication with 21.5 % (95% CI 15.73-27.46) of patients having this problem. Hepatitis was found in 14.7 % (95% CI 9.66-19.73) of patients, diabetes in 11.6 % (95% CI 7.06-16.14), cardiac disease in 10.5 % (95% CI 6.13-14.87), growth disorder in 6.8% (95% CI

3.22-10.38), hypothyroidism in 5.3% (95% CI 2.13-8.47), the lack of puberty among males in 1.6%, hypoparathyroidism in 1.1% and other disorders in 2.1% of patients. Ninety one patients 47.9 % (95% CI 40.79-55.01) did not have any complication. Seventy five patients (39 %) had poor information about thalassemia, 62 patients (32.5 %) had little information and 54 patients (28.5 %) had satisfying information. Out of all patients 48.5% gained their information through health centers (physicians, nurses, etc.).

No statistically significant correlation was detected between the knowledge and gender ($p=0.9$) or any other demographic parameters, except that the patients with university education had a better knowledge compared to others.

One hundred and ten patients (58%) had a positive attitude towards the appearance, quality of life and social relation. Positive attitude was significantly correlated with good knowledge ($p=0.009$). However, the majority of the patients indicated that at least sometimes they felt different from others because of their thalassemia. Based on the questionnaire 144 patients (75.8%) were depressed and there was a significant association between depression and the sex (depression was higher among females $P=0.002$).

Low knowledge about the disease had caused treatment to be irregular and improper. Seventy five patients out of 190 patients had a regular control and management for their disease. One hundred and fifty six used deferoxamine mesylate (130 patients used Desferal® and 26 patients used Desfonak®), and 34 patients used a combination therapy (injection and oral). Sixty four percent of patients used 2.5 ml sterile water for deferoxamine mesylate solvency while 31% of them used 3.5ml and only 5% used 5ml. This finding can explain prevalence of allergic reactions among patients (Table5). The method of Deferoxamine mesylate administration was subcutaneous pump in all patients. The most common problem with this drug was local irritation in 78% of patients. Forty five out of 190 patients used Vitamin C.

Discussion

In this study, our demographic findings such as age, the maximum age at initial diagnosis, age at onset of repeated blood transfusions, iron chelators usage, having someone in the family with major

thalassemia were the same as other studies¹⁵⁻¹⁷.

Our patients' emotional state, such as sadness and being bored was better compared to Tabarsi et al. study¹⁸. The psychological problems such as being tired from the long treatment, disappointment, low self confidence and lack of motivation for continuing the standard treatment were their patients' common emotional problems¹⁸.

In a study conducted in Mazandaran province of Iran by Kousarian et al.¹⁹ despite the lack of patients' knowledge, their attitude was positive but the performance pattern of these patients towards drug usage and treatment compliance was not acceptable. They suggested that the use of various educational methods with emphasis on their patients' believes and practices may be very beneficial to their health state.

Obviously, the problem of low motivation to continue lifelong treatments is particularly exaggerated because of the daily painful infusions of iron chelators. Many of our patients had negative attitude toward the usage of subcutaneous iron chelators especially Desfonak which was related to unfamiliarity with this new brand of drug.

It was also observed that a large number of thalassemic patients had problems with Desferal injection. In a study by Izadyar et al. Subcutaneous injection of Desferal caused many local problems such as local irritation (stiffness, pain, erythema and swelling in injection site), in addition to systemic side effects²⁰. In various other studies such local problems have been reported as the most common problems among patients on iron chelation therapy²⁰⁻²³.

In an analytic case control study 250 thalassemic patients and 51 controls were assessed considering their quality of life using WHOQOL-BREF questionnaire including overall health, physical, psychological, social, and environmental relationship²⁴. The results showed that the quality of life in all 6 dimensions was lower in patients compared to the controls ($P<0.05$). Also they found that higher education level; lower ferritin level and using oral iron chelators were associated with better quality of life scores. On the other hand, cardiac disease, hepatitis C and history of psychiatric disorders were associated with impaired quality of life. The authors concluded that higher education of the patients may improve their quality of life²⁴.

Conclusion

Increasing knowledge, attitude and practice awareness among thalassemic patients about their disease and treatment has a positive influence in their quality of life. This will improve their performance to deal with their lifelong disease and its challenges during the course of treatment.

Acknowledgment

We gratefully acknowledge the Ronak pharmaceutical Co. We also would like to appreciate the kind support of Sara Daniyalzadeh and the staff at Zafar adult thalassemia clinic for their arrangements and administrative efforts.

References

- Farhud D, Sadighi H. Investigation of prevalence of thalassemia in Iranian provinces. *Iran J Pubic Health* 1997;26 (1-2):1-6.
- Nasab AH. Clinical and laboratory findings in the initial diagnosis of homozygous beta thalassemia on Fars province, Iran. *Br J Haematol*. 1979;43(1):57-61.
- Alebouyeh M. Pediatric hematology and oncology in Iran. *Pediatr Hematol Oncol*. 2005; 22(1): 1-9.
- Caro JJ, Ward A, Green TC, Huybrechts K, Arana A, Wait S, et al. Impact of thalassemia major on patients and their families. *Acta Haematol*. 2002; 107(3): 50-7.
- Angastiniotis M. The adolescent thalassemic. The complicant rebel. *Minerava Pediatr*. 2002;54(6):511-515.
- Guiso L, Frogheri L, Pistidda P, Angioni L, Dore F, Pardini S, et al. Frequency of delta thalassaemia in Sardinians. *Clin Lab Haematol*. 1996;18(4):241-4.
- Lukens JN. The thalassemias and related disorders, quantitative disorders of hemoglobin synthesis. In: Lee GR, Bithell TC, Foerster J, et al, eds. *Wintrobe's Clinical Hematology*. 9th ed. Philadelphia: Lea & Febiger, 1993: 1102-45.
- Haghshenas M, Zamani J. [Thalassemia]. 1st ed. Shiraz: Shiraz University of Medical Sciences Publishing Center, 1997. (Book in Persian)
- Karimi M, Mosalla Nejad L, Abdolahi Fard M. Liver enzyme assessment in Thalassemia major patients who underwent bone marrow transplantation. *Journal of Medical Research (Journal of Shiraz University of Medical Science)*. 2004,2(3): 62-70. (Article in Persian)
- Pearson HA, Cohen AR, Giardina PJ, Kazazian HH. The changing profile of homozygous beta-thalassemia: demography, ethnicity, and age distribution of current North American patients and changes in two decades. *Pediatrics*.1996; 97(3):352-6.
- Pakbaz Z, Treadwell M, Yamashita R, Quiyolo K, Foote D, Quill L, et al. Quality of life in patients with thalassemia intermediary compared to thalassemia major. *Ann N Y Acad Sci*. 2005;1054:457-61.
- Abolghasemi H, Amid A, Zeinali S, Radfar MH, Eshghi P, Rahiminejad MS, et al. Thalassemia in Iran: epidemiology, prevention, and management. *J Pediatr Hematol Oncol*. 2007;29(4):233-8.
- Brunner L, Suddarth S. Text book of medical: Surgical nursing. Philadelphia: JB Company; 2008.
- Phipps S. Medical surgical nursing. Philadelphia: Mosby; 2008.
- Ghazanfari Z, Arab M, Forouzi M, Pouraboli B. Knowledge level and educational needs of thalassemic children's parents in Kerman. *Iranian Journal of Critical Care Nursing*. 2010,3(3); 99-103.
- Jashni Motlagh AR, Vossough P. The effect of regular blood transfusion and Desferal use in preventing of hypothyroidism in adolescent major Thalassemic patients. *Journal of Iran Medical Sciences University*. 2003;8(26):391-6. (Article in Persian).
- Fekri AR, Shamsaddini S, Maghsoodloo Nejad A. Skin and mucous membrane lesions in major B-Thalassemia. *Journal of skin diseases*. 2000,3(12):7-17. (Article in Persian)
- Tabarsi B, Marbaghi A, Safavi M, Afkhami M. Comparative survey of problems in thalassemia major patients with regular and irregular follow ups of therapeutic principles. *Khoon*, 2007; 4(1) 33-40. (Article in Persian).
- Kosarian M, Valaee N, Mahdyanee A. Do the Desferal receiver Thalassemic patients have Zinc deficiency? *Journal of Mazandaran University of Medical Sciences*.2000;10(26):1-6. (Article in Persian).
- IzadYar M, Sedighi Pour L, Jafarieh H, Fattahi F. Evaluation of compliance to Iron chelation therapy with Deferoxamine in patients with major Thalassemia in Iran in 2004. *Journal of Tehran University of Medical Sciences*.2006;64(2):180-8. (Article in Persian).
- Weatherl & Clegg. The thalassemia syndromes. Blackwell sciences press, 2001, 4th edition.
- Hagège I, Becker A, Kerdaffrec T, Kanfer A, Girot R. Long-term administration of high-dose deferoxamine 2 days per week in thalassemic patients. *Eur J Haematol*. 2001;67(4):230-1.
- Treadwell MJ1, Law AW, Sung J, Hackney-Stephens

- E, Quirolo K, Murray E, et al. Barriers to adherence of deferoxamine usage in sickle cell disease. *Pediatr Blood Cancer*. 2005;44(5):500-7.
24. Ansari Sh, Baghersalimi A, Azarkeivan A, Nojomi M, Hassanzadeh Rad A. Quality of life in patients with thalassemia major. *Iran J Ped Hematol Oncol*. 2014;4(2):57-63.